Doubles

Challenge 1: Write the number sentence for each ladybird double.

1+1=

2+2=

3+3=

b+ly=

7+7=

2=

10+10-=
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Challenge 2
L.

" Circle the representations which have been doubled:
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How do you know they've been doubled?

Complete and continue the table.
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Build Represent Add Double
g o : 1+1=2 Double 1is 2
% % ole 2+2=__ | Double2is__
3+3=__ | Double 3is _
+ = Double 4 is __

3. If double 2 is 4. What is double 20?




Challenge 3

1. Louise doubles her donuts. The picture
shows what she had after she doubled

her donuts. @@@@
ey DO

Louise started with 4 and )
= ended with 8 donuts.

Eva
Louise started with 8 and ‘
ended with 16 donuts.
Mo
Louise started with 2 and
L) ended with 4 donuts.

Who do you agree with? Explain why.

> Complete the table by doubling each
number.

1

2
3
4
Q)
6
Il
8
9
10

What patterns do you notice?



10+10=20



Challenge 2

" Circle the representations which have been doubled:
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Circle the hands and dice.

How do you know they've been doubled?
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Two equal groups of a humber or amount.

2. Complete and continue the table.
Build Represent Add Double
8 @ ] 141=2 Double 1is 2
[% % %=== 2+2= _ | Double2is __
EBEB 3+3=__ Double 3is __
% _+_=__|Doubledis__

2+2=4 Double?2is 4
3+3=6 Double3is6
4+4 =8 Double4is 8

3. If double 2 is 4. What is double 20?

Double 20 is 40



Challenge 3

1. Louise doubles her donuts. The picture Possible answer:
shows what she had after she doubled Whitney is correct

her donuts. @@@@ because the image
shows what she
SODS | vas ertwin she

Whitney
had 8 after sh
Louise started with 4 and da - &:j erj €
= ended with 8 donuts. oubled an
double 4 is 8
Eva
Louise started with 8 and @A
ended with 16 donuts.

Mo

Louise started with 2 and
ended with 4 donuts.

Who do you agree with? Explain why.



Complete the table by doubling each Possible answer:
number.
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The doubles
increase by 2 each

time.
The doubles are
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all even.
The doubles end
in2,468o0r0
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What patterns do you notice?



